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Not more than siz questions may be attempied,
All questions are of equal value.

1. Explain the parallax methods used in optical experimey
Deseribe how you would find the foeal length of () a eon
mirror and (b) a convex mirror by pavallax methods. Tlusisg
your answer by diagrams, 3

2. A eonvex lens easts an image equal in size to the obj
which is placed 50 ems. from the lens. If another lens is ph
in contact with the first, the image is inereased to twice its previs
linear dimensions. Find the foeal lengths of the two lenses

3. How may a convex lens and a concave lens he employsl
form a teleseope?! Give a earefully drawn diagram of tlle
of the rays by means of which an eye may obhserve a pomib
distant object,

4. How would you determine the index of refraction of _'
(#ive experimental details and justify any formula used.

5. What is meant by the Mechanical Equivalent of
Deseribe fully how this quantity may be determined experiment
State its value.

6. Two buckets each of mass 75 1b, are supported by &
rope over a smooth pulley and are at rest. A mass of 11
dropped from a height of 4 feet into one of the huckets. Cald
the time which elapses after impaet before the buekets have 108
through a vertical distance of 10 feet. ‘g
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boy weighing 8 stone and riding a bieyele weighing 21 [bs.
p a hill with a gradient of 1 in 21 at 9 miles per hou.
ing that frietion is equivalent to a foree of 2 1b. wit. resisting
on up the hill, find his rate of working in horse-power.

1 H.P.=550 foot 1b. per see.

Derive an expression for the infensity of the magnetie field

point on the prolongation of the axis of a bar magnet.
n how the expreéssion may be used in the experimental com-
of the magnetie moments of magnets.

‘What is meant by the eleetrical capacity of a condenser?
at does it depend? Two Leyden jars of capacities C, and (',
nected (a) in parallel, (b) in series. Find the rvesultant
ity in each case,

Deseribe the construetion of a moving coil galvanometer and
lain its action. Explain the use of a shunt in connexion with

A tangent galvanometer has 6 turns of wire of mean radiug
Find the mass of copper deposited in 30 minutes by a
t which produces a deflexion of 459,
E.CLE. of copper=0.000328 gm. per coulomly,

H=018 dyne per unit pole.

State the laws of eleetromagnetie induction.  Explain the
tial features of a simple form of dynamo for producing dirveet
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